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for (int i=0;

private void buttonl Click (object sender,

int 1D;double X1, YT1;
Random RD = new Random() ;
double X0=1.0; double Y0=1.0;
i<20000; i++)

double R=RD.NextDouble() ;

if R<0.73) ID=0;

else if R<0.86) ID=1;
else if R<0.99) ID = 2;

else ID = 3;

System. EventArgs e)

X1=Fsys1[ID, 0, 0]*xX0+Fsys1[ID, 0, 1]*xY0+Fsys2[ID, 0] ;
Y1=Fsys1[ID, 1, 0]*X0+Fsys1[ID, 1, 1]1xY0+Fsys2[ID, 1];
if(X1<1.0 && Y1<1.0 && X1>=0 && Y1>=0)

m[(int) (X1%1000.0), (int) (Y1%1000.0)]=true;

X0=X1:Y0=Y1;

B (); this. Invalidate();
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